A
e Q é l '@' Simplificando Polindmios

Nome: Encontro: Data: Pontuagao:
4 — 58 + 2x + 4(9x — 3x2) Sx— Tx— 8x° — 9x + 4x
P T 2(x+ 3x2) —6x% + 3x° + 9x°
70+ 4% +3x° — 2+ 81 Sx° — 6x° — 4x — 3(8x+ 8x3)
2% + 9x% + 3(9x% + 9x) — 6x° 8x — 5¢° +3x% + 9%’ — 3x
9x> + Tx — 9x> — Tx + 3x? A+ 4x° — 5 — 4(5x2 + 4x2)
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A
e Q é l '@' Simplificando Polindmios

Nome: Encontro: Data: Pontuagao:
43 — 5x° + 2x + 4(9x—3x2) 5x— 7x— 8> — 9x + 4x
x> = 12x% +38x —8x> — Ix
X =3 T - X 20+ 3x%) — 6% + 3% +9x°
X+ 4 122 + 2x
7+ 4 + 300 — 2x+ 8x° 5x2 — 6x° — 4x — 3(8x + 8x?)
18x° + 4% — 2x —30x° + 5% — 28x
23 + 9% + 3(9x% + 9x) — 6x° 8x — 5% +3x7 + 9x° — 3x
—4x3 + 36x% + 27x 43 + 3% + 5x
0 + Tx — 9> — Tx + 3x2 4+ 4x° — 5x% — 4(5x2 + 4x2)
32 43 — 4122 + 4x
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